mean # PXL hits vs eta

<pixel hits>

Ratio

.....................................................................

.....................................................................

1.

0.95

| mean # PXL Layers with measurement vs eta

<pixel layers>

4.5

.....................................................................

.....................................................................

.....................................................................

b
9990000

<strip hits>

Ratio

14

12

10

1.

0.95

w

—=— DQM_TT_time_newbranch

—— DQM_TT_newbranch_time_pLess

I.IIIilllIiIIII.IIIIiIIIIiIIFI

H++++++++++HHH++++++H+

0

1

2

<strip layers>

Ratio

.....................................................................

.....................................................................

=
TT T T[T T 1T

|HH§H++++++++§++++++++++§HHW+§+++

)

0

2 3




	Contents
	Page 1


